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RS3 . THIRD REVISION EXAMINATION - 2025
10 - Std MATHEMATICS
TIME : 3.00 Hrs PART - I MARKS : 100
CHOOSE THE CORRECT ANSWER: | ‘ | Taxi-14

Let n(A) = m and n(B) = n then the total number of non-empty relations that can be defined
from AtoBis L

(a) m n - | (b) nm i . (c) -zmn _1 (d) 2mn
The function f: N - Z is defined by f(x) = (-1)" . then the function f is

(a) onetoonefunction .  (b) manyfohe function
(c ) constant function (d) identity function

Using Euclid’s division lemma, if the cube of any positive integer is divided by 9 ‘Fhen the
possible remainders are ' .

(a) 0,1,8 b)148 (] 013 ~ (d) L35

An A.P consists of 31 terms, If its 16" term is m, then the sum of all the terms of this A.P. is

e 31
(a) 16m (b) 62m VO (d) =~
L 256x8y421° I. 3
The square root-of 55267626 is equal to
) - 18 |xet - 16| > © 16|x2?
@ =157 (b) 16 |53| (c) = l2g? d |75
For the given matrix A= (0 0 0)then the order of the matrix A Tis
(@)0x0 (b) 1%3 (c)3x1 (d) 1x0

In a AABC, AD is the bisector of 2BAC . If AB = 8cm, BD = 6cm and DC = 3cm. The length
of the side AC is

(a) 6cm (b) 4 cm | {c)3cm (d) 8cm

The slope of the line which is perpendicular to a line joining the points (0,0) and (-8,8) ivs

(@)1 (b)1 - OF @ -8

Which one of the following equation of straight line passing through origin?

. i .
(a)x=2y+5 \(b)y-='2- X. (c) y=7 (d) x=4
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Ifx=atand andy=bsecé then

yz xz_ x2
(@) 25 5 =1 LEES
¥ y2 2 2
(€) Z+i7=1 (d) -2 =0

In a hollow cylinder, the sum of the external and internal radii is 14cm and the width
is 4 cm. If its height is 2Q cm, the volume of the material in it is

(a) 5600 mem®  (b) 1120 mem®  (c) 567 cm® (d) 3600w cm?

The CSA of a right circular cone whose heigﬁt is equal to its radius -----(sg. units)
(a) 27r? (b) mrl - ) Ve i (d) v27r
Which of the following is ‘nct._a measu‘;e of dispersion?

(a) Range (b) standard deviation- (c) arithmetic mean- . - (d) variance

* Which of the following values-cannot be a pfobability of an event?

ol |

OB - FEE eSS AT

PART - i

e

ANSWER ANY 10 QUESTI'C:)NS. dLiESTloN No.zs IS"COMPULSOVRY: 10X 2 =20

If BXA={(-2,3), (2 4),(0 Ip (o 4)(3 3),(3,4) } find AandB.
Find the value of k, such that fog - g of if f(x) = 2x-k g(x) 4x +5.
Find the 15" term of an A.P given by 3,15,27,39,..

Find the sum of 8 term of the G.P 1,-3,9,-27...

1

400 x4 12 16

Find the square root_of the foHoyvmg rational expression 200 W
If ¢ and B are the roots of find the value of x% + 7x +10=0. Flnd the value of a-p.

Construct a 3X3 matrlx whose element are given by au . ||— 2j|

If AABC ~ A DEF such that area of AABC is 9 cm? and the area of ADEF is 16 cm?and

BC =2.1 cm. Find the length of EF.
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Find the value of ‘a’, if the line through (-2,3) and (8,5) is perpendicular toy = ax +2.

l
\

.Prove that tan %0 - sin 26 = tan 20 . sin °0 - ‘ |

|
The external radius and the length of a hollow wooden log are 16cm and 13 cm respectively.
If its thickness is 4cm then find its T.S.A. by
t

. ‘ \ .
Find the range and coefficient of range of the following data : 25, 67, 48, 53, 18, 39, 44.
: l ‘

If A and B are two mutually exclusive events of a random experiment and P (notA)=0.45,
P(A\U B) =0.65, then find P(B). '

The hill in the form of a right triangle has its foot at (5,0) " The inclination of the hill to the
ground is 30°. Find the equation of the hill joining the foot and top.

PART Il

ANSWER ANY 10 QUESTIONS. QUESTION NO.42 IS COMPULSORY: 10X 5 =50

Let A= The set of all natural numbers less than 8, B=The set of all prime numbers Iess than 8,
C= The set of even prime number. Verify that AX(B-C)=(AXB) - (AXC).

6x+1 ;=5 <x <v2

If the function f:[ -5,9]—R is defined as follows f(x) ={ - 5x2 -1 ;2 <x <6
" 3x—4 ;  6=5x =<9

then find the va.Iues of (i) f(-3)+ f(2) (i) f(7) - (1)

.y 2f(=2)=f(6)
(iii) 2 f(4) + f(8) (iv) _————f(4)+f(—2) ,

The 104" term and A% term of an A.P are 125 and 0. _Find the sum of first 35 terms.

64
8  Jndthe 7" termis =———. Find the

‘In a Geometric progression, the 4" term is 5 243 -

Geometric Progression.
+ 1 1
x2_5x+6 x2—3x42 x2—8x+15

Simplify

i
i

A bus covers a distance of 90 km at a uniform speed. Had the speed been 15km/hour more

it would have taken 30 minutes less for the journey. Find the orlgmal speed of the bus.
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| - . - (AC- BC)..
Let A =[1 B= [+ 0) (= 2 OJ chow that (A-B)C= (A )
1 3 1 5 1 2 ‘
State and prove Thales theofem.

he mid
D (-7,6) Show that t
A quadrilateral has vertices at A (-4 ,-2), B (5, -1), C (6,5 ) and D (

points of its sides form a parallelogram.

. : tion of the lines 8x+3y =18,
Find the equation of a straight line through the point of mterse;) s
4x+5y= 9 and bisecting the line segment joining the points (5,-

tion of the topofa cable tower is 60°

From the top of a 12 m high building, the angle of eleva e height of the tower.

and the angle of depression of its foot is 30° . Determin

model Shaped like a cylinder with two
3cm and its length is 12 cm. If

Nathan made.

Nathan, an engineering student was asked to make a
cones attached at its two ends. The diameter of the model is
each cone has a height of 2 cm, find the volume of model that

2, 10. Flnd its
The number of televisions sold ineach day ofaweek are 13,8, 4,9, 7 1

standard deviation.

on the first d
Two dice are rolled once. Find the probability of getting a comPOSIte number 0 e

or a prime number on the second die. R : .

PART - IV
ANSWER ALL THE QUESTIONS "2X8=16

(a) Take a point wh|ch is 11 cm away from the centre of acircle of radlus 4 ¢cm and draw the
two tangents to the circle from that point. Also measure the Iength of the tangents {OR)

b) Construct a APQR in which PQ =8cm, £R = 60° and the medlan RG from R to PQ

'is'5.8 cm. Find the length of the altitude from R to PQ.

a) Nishanth is the winner in 3 marathon race of 1_2km distance. He ran at the uniform speed
of 12 km/hr and reached the destination in 1 hour. He was followed by Aradhana,
Ponmozhi, Jeyanth, Sathya and Swetha. with their respective speed of 6 km/hr, 4 km/hr,
3 km/hr, 2 km/hr . And, they covered the distance in 2hrs, 3 hrs, 4 hrs and 6 hrs
respectively. Draw the speed-time graph and useitto fmd the time taken to Kaushlk wnth his
speed of 2.4 km/hr. IOR)

(b) Draw the graph ofy 2% and hence solve 2x* =x-6=0,
5RS3 10 Maths E M. PAGE 4
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